Name: _____________________________________________
Date: ____________    Period: ____________


Review Practice 1 - math 8th
1-12 Solve the equations:
1.   2x + 10 = 16

2.   4x – 13 = 3

3.   -2x + 12 = 24

4.   
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7.   4b + 16 + 2b = 46

8.    -2(b – 4) = 12

9.    
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10.    0.5a + 8.75 = 13.25

11.     2(x + 3) = 2x + 6

12.     3(x + 4) = 3x + 4

13. I ordered four new CDs by mail.  Each costs the same amount and there was an additional $5.00 shipping/handling charge that brought the total to $33.  Write and solve an equation to find the cost of one CD.

14. Aden has a stomach ache!  He ate some cupcakes at breakfast, three times that number of cupcakes at lunch, and 6 cupcakes at dinner.  If he ate 18 cupcakes in total, write and solve an equation to determine how many cupcakes he ate at lunch.

15. Sue found a great sale on bracelets.  With the money in her pocket, she can buy 5 bracelets and have $3 left over or she could buy 2 bracelets and have $9 left over.  Write and solve an equation to find out how much each bracelet costs.
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In the diagram below ∆ABC ~ ∆DEF. 
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a) Name all corresponding sides and corresponding angles.

b) If  AB is 16, AC is 20 and DE is 4, find the measure of side DF
[image: image5.emf]Diagram for 17-22
17. From the diagram above, name two pairs of corresponding angles. _________________________________

18. From the diagram above, name the alternate interior angles. _______________________________________

19. From the diagram above, name the alternate exterior angles. _______________________________________

20. From the diagram above, name the same side interior angles. ______________________________________

21. Given the m
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7 = 70°.  Find the measure of as many of the other angles as possible.

22. Given the m
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4 = 134  and m
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5 is 4x – 2.  Find the value of x.

Find the missing angles:
	26) 
	27) 
	28) 


	29) 
	30) 
	31) 


Determine if the side length will make a right triangle.

32. a) 20, 21, 29



b)  10, 15, 20



c) 45, 53, 28

d) 7, 11, 12



e)  15, 20, 25



f) 30, 34, 16

Assume that a balloon is spherical shaped. If you have a balloon with a radius of 3 cm, what’s the volume? 

The coned shaped room has a height of 15 ft and a radius of 72 ft. Find the volume of the room. 

An ice cream package is cone shaped. It has a radius of 5.5 cm and a height of 17 cm. Find the volume of the ice cream cone. 

A cylinder shaped jar has a radius of 2 cm and a height of 6 cm. What’s the volume of the jar? 

33. A wooden block that has a hole drilled in it. The holes measure a radius of 8 cm and a height of 10 cm. The wooden block has a diameter of 32 cm. Find the volume of the wooden block.
Daniel rides his bicycle 21 km west and then 18 km north. How far is he from his starting point? 

A rectangle is put together by two congruent right triangles. The hypotenuse is 17 cm and the base is 8 cm. Find the height of the triangle. 

34. Find the hypotenuse of a right triangle that has a 13 cm leg and a height of 7 cm.
A square has diagonal of 14.14 cm. Find the area of the square. 

35. The bottom of a ladder must be placed 5 feet from a building. The ladder is 14 feet long. How far above the ground does the ladder touch the wall?
36. List the squares of all numbers from 1 to 15.

37. List the cubes of all numbers from 1 to 10.

38. a) What are square roots of 49?                 b) What is the principal root of 196?
39. What is the cube root of -216?
40. During 2013, a freight company delivered about 5.8 million loads of goods at an average value of $52,000 per load. What was the total value of goods delivered? Express your answer in scientific notation.
41. Rewrite 5.74 x 10-5 in decimal form.
42. Rewrite 73,800,000 in scientific notation

43. Rewrite 5,742,563,054,431 in scientific notation.

44. The speed of light is 6.71 x 108 miles per hour. How much a beam of light travels in 3 hours? Express your answer in scientific notation.

45. Multiply: (4.5 x 1011)(2.3 x 1015)

46. Graph:  x + 10 = 15 + 4y
47. Graph:  x – 3y + 13 = 40
48. Graph:  6y = 72
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